7 Hi S 4 Kg | w4 | R | HIE T AT 4
JAN
g A seeE | BRI D OIIIES
30 HEHAR (H/H) 5/30 7/18 10/24 O
AR FHATREZ]  (KF:47) 7:00 8:15 6:15 B
- O AL E il il PRty
o 7K % (m) 3.7 4.4 4.5
gl B OB ok E e FJE )=
| K 52 E i =
= H (C) 23.1 32.0 16.3
ey IS i (C) 23.0 29.2 19.1
i @, H H%%%@ ikt fa | JKEkf
R R = s R S TR R | TR
H 75 2] & (m) 0.9 1.0 0.9 0.9
75 5 B (em) > 100 77 57 78
17 | A= pH 7.6 6.9 6.8 7.1
o DO (mg/L) 6.5 6.7 5.3 6.2
{m BOD (mg/L)] 1.2 2.8 3.1 2.4
B COD (mg/L) 7.5 7.4 8.1 7.7
H |5 SS (ng/L) 1 2 1 1
e % (mg/L)|  12.0 7.93 13.2 11.0
S B (mg/L) 1.79 1.15 1.49 1.48
o IS il g (mg/L) 0.04 0.02 0.03 0.03
J1 K 2 v A (mg/L) < 0.001 [< 0.001 [< 0.001 <_0.001
el & ¥ 7 v (mg/L)J< 0.1 |< 0.1 [< 0.1 < 0.1
153 i) (mg/L) |< 0.005 |< 0.005 |< 0.005 < 0.005
WL A i 7 v & (mg/L)|< 0.02 [< 002 [< 0.02 < 0.02
H fitk #  (mg/L) [< 0.005 |< 0.005 [< 0.005 < 0.005
fa 7K $ (mg/L) < 0.0005[< 0.0005[< 0.0005 < 0.0005
K i (mg/L) < 0.02 |< 0.02 |< 0.02 < 0.02
w8 g/ 0.10 0.10 0.07 0.09
T wmmre~o7 > mg/D| 002 | 0.03 | 0.04 0.03
H 7 = 2 (mg/L) [< 0.02 |< 0.02 [< 0.02 < 0.02
wWAb ¥ A4 4 > (mg/L) 481 1290 1070 947
z MBAS (mg/L) [<  0.02 0.02 0.03 0.02
ToE=THEHE (mg/L) 0.09 < 0.01 0.04 0.05
) dAEfRMEZEFE (mg/L) 0.02 0.07 0.25 0.11
REEAE %2 3 (mg/L) 9.69 6.59 11.7 9.33
% m % % mg/L| 174 1.12 141 1,42
A s B R o vl 1860 5530 3510 3633
O oK B NE T NE
. 7K B (C) 22.8 29.2 22.5
5= X sk | Bk kB [ Bk B8
. 75 1  (cm) 51 57 45 51
B pH 7.0 7.1 7.2 71
o DO (mg/L){< 0.5 |< 0.5 |< 05 < 0.5
TE | g BOD (mg/L) 1.7 7.8 2.5 4.0
155 COD (mg/L) 7.0 11 4.8 7.6
A | SS (mg/L) 1 3 < 1 2
=~ & %= #  (mg/L) 2.32 2.68 1.51 2.17
Hl % B (mg/L)] 0.525 0.587 0.318 0.477
WAk A A4~ (mg/L) 13100 12100 15300 13500
T [FoE=NZEf mg/L| 1.41 1.92 0.71 1.35
. dagietEEF (mg/L) < 0.01 |< 0.01 0.01 0.01
{E[ e (mg/L) 0.01 |< 0.01 0.05 0.02
o L AR M BE (mg/L)) 0476 | 0.527 | 0.267 0.423
E R s B R o aeal 35600 | 32600 | 40000 36067
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JAN
g JEANE weg | BRI D OIIES
30 HEAB (A/H) 5/30 7/18 10/24 O
T NS CE) 7:55 9:45 7:40 v
- (2 VA E FiEols JiEls FiEls
A 7K % (m) 3.2 3.9 3.4
gl BB ok ) g )
- | X o E i =
= H () 93.2 34.3 16.5
et IS i (C) 23.1 31.3 19.0
wls 0, A IRE Ik | RSk tB o | IKERED
" & X T K G| % TR #% T KR
g % B £ (m) 1.3 1.2 1.3 1.3
75 i B (em) |> 100 |[> 100 72 > 91
15 | pH 7.4 6.9 7.0 7.1
B - DO (mg/L)| 4.7 6.2 3.1 4.7
/ BOD me/D | 1.1 3.8 2.2 2.4
Br COD (mg/L) 6.9 6.9 7.2 7.0
H |5 SS (mg/L) 1 2 1 1
] B # (mg/L)|  9.00 6.89 8.69 8.19
1 & B (mg/L) 1.34 1.07 1.12 1.18
U2 & (mg/l) B B B -
Z R I 7 A (mg/L) - - - -
|l & v 7 v (mg/L) - - - —
FE i) (mg/L) - - - -
T Nofli 7 v A (mg/L) - - - -
H fitk F# (mg/L) — — - -
oy 7K R (mg/L) — — — —
¥r & (mg/L) - - - -
ol B R PE 8 (ng/L) - - - -
B I mbti~y o (mg/L) - - - -
H v = 2 (mg/L) — — — -
Ak ¥ A4 4~ (mg/L) 3130 2600 4490 3407
z MBAS (mg/L) - - - -
7= HEHRE (mg/L) 0.51 0.16 0.33 0.33
) g EErEZE SR (mg/L) 0.09 0.11 0.14 0.11
TR E 2 37 (mg/L) 6.82 5.71 6.80 6.44
"% m M B (mg/L)|  1.28 1.05 | 0.994 1.11
A B R oyl 9610 8980 13600 10730
B oK OB = T)E INE
. 7K i (C) 22.8 30.0 22.1
5 = peifr A | ok m | R K R
% R B (em) > 100 42 81 74
B A pH 7.2 7.1 7.3 7.
% DO (mg/L)| 2.0 1.7 2.2 2.0
T | g BOD (mg/L)] 2.1 3.7 1.4 2.4
- COD (mg/L) 4.0 5.3 3.1 4.1
A | SS (mg/L) 1 6 5 4
i = = # (mg/L) 2.03 2.05 1.92 2.00
A % B (mg/L)| 0511 [ 0.350 [ 0.194 0.352
WAk ¥ A A4~ (mg/L) 14900 14200 17000 15367
T [ 7oe=7WHZE# meg/L)| L5 0.84 0.37 0.79
. s rEzEFR (mg/L) 0.04 0.08 0.05 0.06
AR E 2 37 (mg/L) 0.13 0.28 0.84 0.42
i LME MR M R (mg/L)| 0443 | 0.258 | 0.152 0.284
B X s R Gooem] 38900 | 36500 [ 42900 39433
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JAN
g RO s | B2 D 1K
30 HEAB (A/H) 5/30 7/18 10/24 O
T A (RF:57) 8:30 10:30 | 8:20 7 ¥
- S A % il il it
7K % (m) 4.0 4.8 4.3
gl & B ok B e FJE )=
- - PN 52 E i =
il IS H(C) 23.4 32.4 18.0
=k i (C) 23.2 31.0 19.0
s @, H [ER T H%{ﬁ%’f%@ [ER T
S = PR K | g v B [ B K R
g 75 B - (m) 1.8 1.2 1.6 1.5
75 1 E o (em) |> 100 52 69 74
15 | 4= pH 7.3 7.0 7.1 7.1
i DO (mg/L) 4.5 8.2 3.5 5.4
; BOD (mg/L) 1.1 4.2 2.1 2.5
B COD (mg/L) 6.3 8.9 6.7 7.3
H |5 SS (mg/L) 1 5 1 2
mlL 2 = # (mg/L)|  7.10 6.55 6.47 6.71
1 & B (mg/L) 1.17 0.581 0.854 0.868
A% &% 4 (ng/l) - - B -
s K X v A (mg/L) — - - -
|l & ¥ 7 v (mg/L) - - - -
53 pie) (ng/L) - - — -
H |l A i 7 2 2 (mg/L) - — — -
H fit # (mg/L) — - - -
i 7K $R (mg/L) — - - —
KF & (mg/L) - - - -
wo B M M B (ng/L) - - - -
H it~y 1 (mg/L) B B B B
H T2 5 & (mg/l) - - - .
WAk ¥ A 4~ (mg/L) 4610 5900 6970 5827
Z MBAS (mg/L) - — — -
ToE=TMHEFZ (mg/L) 0.71 1.65 0.52 0.96
%) fgiErEE%  (mg/L) 0.07 0.99 0.11 0.39
TEFRIEEE 32 (mg/L) 4.93 2.52 4.88 4.11
e B ® 7 % (mg/L]  1.09 | 0438 | 0.765 0.76
R s B R 0 wuyel 13800 | 17100 | 19700 16867
B oK OB T)E T)E TE
. 7K i (C) 22.8 30.2 21.9
5 = bk | PSR B [ B T K R
. 75 R B (cm) 66 44 > 100 70
B A pH 74 76 74 7.5
T DO (mg/L) 2.2 5.5 3.2 3.6
T | g BOD (mg/L)] 2.1 3.2 0.8 2.0
- COD (mg/L) 3.9 5.1 2.3 3.8
a s SS (mg/L) 1 4 < 1 2
i = = # (mg/L) 2.05 2.05 1.62 1.91
Hl & B (mg/L)| 0.592 0.243 0.135 0.323
w44~ (mg/L) 15100 13500 17600 15400
T [ 7oe=7WHZE# mg/L)| 115 0.35 0.29 0.60
. i EErEZE R (mg/L) 0.03 0.15 0.04 0.07
[EI e (mg/L) 0.17 0.70 0.77 0.55
i LBE MR M BE (mg/L)] 0511 | 0.143 | 0.112 0.255
B R s R Goaem] 39900 | 36200 [ 44600 40233
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PAN
7B B S RS |eEwmn|  C X
30 MEHAHA (H/H) 5/30 7/18 10/24 O
G ARAREZ (R :45)) 9:05 11:15 8:50 s
- B OH E B Bk Bk
= 7K % (m) 3.7 3.6 3.9
B kg #JE )= g
LR [ s i =
= " (C) 23.0 34.0 17.0
et IS i (C) 24.2 32.8 22.3
s @, H IG5 e 1) €0 | IR ok 18 €0 | Tk 8
o = PR AR B R KR | B R K A
5 75 B - (m) 2.5 1.1 1.6 1.7
% 15 B (cm) 93 54 65 71
15 | 4= pH 7.5 7.1 7.0 7.2
. DO (mg/L) 3.9 7.9 4.2 5.3
i BOD (mg/L) - - - —
Br COD (mg/L) 9.8 11 7.1 9.3
H |55 SS (mg/L) 1 4 1 2
w2 E # (mg/L) 13.0 12.4 11.8 12.4
D B (mg/L)|  0.349 0.742 0.503 0.531
U2 % & (mg/L) n B . -
B R I U A (mg/L) - - - -
wl e v 7 v (mg/L) — - — -
JE i) (mg/L) - — - -
Wl AN i 7 o & (mg/L) - - - -
H fitt # (mg/L) — — ~ -
i 7K R (mg/L) — - — -
T &l (mg/L) - - - —
ol B M M B (neg/L) - - - -
B I amvi~y 7> (mg/L) _ - - -
H T 5 & (ng/L) B B n .
At ¥ A4 4~ (mg/L) 5340 4970 8310 6207
z MBAS (mg/L) - - - -
ToE=T RS (mg/L) 5.47 5.42 1.83 4.24
D Mgtz FR (mg/L) 1.51 2.21 0.13 1.28
REme a3 (mg/L) 3.78 2.97 8.61 5.12
i % m M % (mg/L)| 0223 0.601 0.424 0.416
K s B o wsm] 16000 15500 | 22400 17967
O oK OB T INE INE]
. 7K i (C) 23.2 29.8 23.0
= = T AR ek n | CF KR
5 5 B (cm) |> 100 41 62 68
e[ bl 7.4 7.7 7.3 7.5
o DO (mg/L) 2.1 5.4 2.0 3.2
I | g BOD (mg/L) - - - -
5 COD (mg/L) 4.3 6.0 3.4 4.6
Al SS (mg/L) 3 7 2 4
=~ & %= F# (mg/L) 2.41 2.23 3.66 2.77
Al 4 B (mg/L)] 0.397 0.252 0.236 0.295
WAk W A4 A4~ (mg/L) 14900 13300 15200 14467
T I 7o==7W%%# mg/)| o087 0.36 0.70 0.64
o Mg ERrEE SR (me/L) 0.11 0.16 0.06 0.11
RE Rl E %2 3 (mg/L) 0.18 0.69 2.50 1.12
i | M M OBE (me/L)| 0307 | 0.137 0.199 0.214
E A S E E el 39200 | 34700 [ 40200 38033




) E H S 4 A | )14 Fa HIE TR A 44
PAN
ke 5011 s [ sommn| C T
30 MEHAHA (H/H) 5/30 7/18 10/24 O
G ARAREZ (R :45)) 9:45 11:50 9:35 s
. B OH E AR IS | AR L | AR
= 7K % (m) 3.9 4.6 4.2
B kg #JE )= *JE
.1 X [ = i =
= " (C) 23.3 35.9 17.2
et IS i (C) 23.8 32.0 19.9
s @, H I f 18 £ H%{ﬁ%%@ [ERRTSED
LR = P KR | B e R | B R KR
5 75 B - (m) 1.9 0.9 1.8 1.5
% 15 B2 (em) > 100 44 94 79
15 | 4= pH 7.6 7.2 7.1 7.3
- DO (mg/L) 4.7 8.7 3.7 5.7
BOD (mg/L) - - - —
Br COD (mg/L) 7.3 8.9 6.7 7.6
H |55 SS (mg/L) 1 5 2 3
w2 E % (mg/L)|  8.62 6.98 8.32 7.97
D B (mg/L)|  0.891 0.700 0.918 0.836
U2 % & (mg/L) . B . -
B K 2 v A (mg/L) - - - -
wl e v 7 v (mg/L) — - — -
JE i) (mg/L) - — - -
Hl A fli 7 2 & (mg/L) - - - -
H fitt # (mg/L) — — ~ -
i 7K R (mg/L) — - — -
T &l (mg/L) - - - —
ol B M M B (neg/L) - - - -
B I amvi~y 7> (mg/L) _ - - -
: Z = L (mg/L) - - — -
At ¥ A4 4~ (mg/L) 4990 6110 5940 5680
z MBAS (mg/L) - - - -
ToE=T RS (mg/L) 2.09 2.10 0.55 1.58
D Mgtz FR (mg/L) 0.48 0.97 0.14 0.53
REme a3 (mg/L) 4.68 2.71 6.52 4.64
i % m M % (meg/L| 0810 0.548 0.829 0.729
B R B E R o sl 14900 17200 17000 16367
B kB T INE N
. 7K i (C) 23.1 30.8 21.9
= = Hifbok 35 5wk s | B K R
5 5 B (cm) 47 40 [> 100 62
e[ bl 7.4 7.4 7.4 7.4
i DO (mg/L) 1.3 1.7 2.9 2.0
I | g BOD (mg/L) - - - -
5 COD (mg/L) 3.8 5.0 2.1 3.6
Al SS (mg/L) 1 4 1< 1 2
=~ & %= F# (mg/L) 1.98 1.57 1.72 1.76
Al 4 B (me/L)] 0.622 0.287 0.142 0.350
WAk W A4 A4~ (mg/L) 15600 [ 15800 17400 16267
T I 7o==7W%# mg/)| L5 0.75 0.36 0.75
o Mg ERrEE SR (me/L) 0.02 0.06 0.04 0.04
RE Rl E %2 3 (mg/L) 0.05 0.18 0.79 0.34
i | M M OBE (me/L)| 0558 | 0.204 | 0.120 0.294
E A S8 E owewl 40400 | 40300 [ 44400 41700
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JAN
R JUH T H R | s | C X
30 HEHAR (H/H) 5/30 7/18 10/24 O
AR FHATREZ]  (KF:47) 10:40 12:50 10:20 B
- S A % FRBE B SR
o 7K % (m) 4.6 5.0 5.0
AL S SRS 7<) 7<) FJE
2 f5 g il 2
U 5 (C) 241 34,1 18.0
=k i (C) 22.7 29.7 20.8
P @, H IG5 fke 1) €2 | IR Rk ke o | T KRk £8
b = i e B | ko v B | g e .
g 75 B - (m) 2.4 0.9 3.5 2.3
75 1 E o (em) |> 100 34 |> 100 78
17 | A= pH 7.8 8.4 7.4 7.9
i DO (mg/L) 5.8 11.0 4.7 7.2
BOD (mg/L) - _ _ —
B COD (mg/L) 5.2 7.4 3.1 5.2
H |5 SS (mg/L) 1 10 1 4
ml® % % (mg/L)] 3.58 2.10 3.40 3.03
1 & B (mg/L)] 0.289 0.223 0.192 0.235
= & 4 me/L)| 001 | 0.0l 0.01 0.01
1K 2 v A (mg/L) < 0.001 [< 0.001 [< 0.001 <_0.001
el & v 7 v (mg/L)J< 0.1 |[< 0.1 [< 0.1 < 0.1
53 pie) (mg/L) < 0.005 |< 0.005 [< 0.005 <_0.005
H LA i 7 v & (mg/L)]< 0.02 [< 002 [< 0.02 < 0.02
H filk # (mg/L) < 0.005 |< 0.005 [< 0.005 < 0.005
“ 7K $R (mg/L) |< 0.0005]< 0.0005 |[< 0.0005 < 0.0005
K & (mg/L) J< 0.02 |< 0.02 |< 0.02 < 0.02
wol v e M 8 (me/L) < 0.05 [< 0.05 [< 0.05 < 0.05
B Mamit~> 7> e/ 0.03 ]< 0.02 0.02 0.02
H Vi = A (mg/L) [< 0.02 [< 0.02 [< 0.02 < 0.02
WAk ¥ A 4~ (mg/L) 12600 | 13200 15400 13733
z MBAS (mg/L) 0.02 0.03 < 0.02 0.02
ToE=TMHEFZ (mg/L) 1.13 0.06 0.43 0.54
) daEfetEEFE (ng/L) 0.25 0.13 0.07 0.15
TEFRIEEE 32 (mg/L) 1.01 0.64 2.00 1.22
"% m M B (me/L)| 0.195 | 0.066 | 0.160 0.140
R Is 5 R o sm] 34800 | 35300 | 40600 36900
BOE K B TE INE] INE
. 7K H(C) 21.0 28.5 21.6
R = P e L | g e B | g e .
. 75 i - (cm) 63 24 |> 100 62
[ 1 pH 76 7.9 7.6 7.7
o DO (mg/L)| 4.0 4.5 3.5 4.0
T | BOD (mg/L) — — — -
i COD (mg/L) 4.2 5.2 2.2 3.9
A |5 SS (mg/L) 8 16 9 11
=~ & = F# (mg/L) 2.35 1.59 1.25 1.73
Hl & B (mg/L)] 0.213 0.184 0.115 0.171
Ak ¥ A A4~ (mg/L)| 15000 | 15400 17900 16100
T 7oe=7WZE# mg/)|  0.60 0.25 0.18 0.34
o fgierE=%E (mg/L) 0.12 0.07 0.03 0.07
THFRIEEE 32 (ng/L) 0.65 0.43 0.55 0.54
i LB MR P B (me/L)| 0.146 | 0.102 | 0.089 0.112
B R s R Goaem] 40000 | 39600 [ 46600 42067
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PAN
S ) 11 WrE | 2| D OIS
30 MEHAHA (H/H) 5/29 7/17 10/23 O
G ARAREZ (R :45)) 7:00 7:50 6:20 s
- B OH E it Pl it
= 7K % (m) 2.5 3.0 2.1
B kg #JE )= *JE
B P o = i =
= " (C) 22.8 33.2 153
et IS i (C) 21.8 28.1 18.1
s @, +H E)%{ﬁ%%%@ i SRR L S
o = W E R KRR TR
5 75 B - (m) 0.9 1.5 0.9 1.1
% 15 B (cm) 36 47 > 100 61
18 | A= pH 7.0 7.4 7.5 7.3
- DO (mg/L) 5.3 5.5 6.4 5.7
I BOD (meg/L) | 6.5 2.0 2.1 3.6
bt COD (mg/L) 7.2 4.5 3.7 5.1
H |55 SS (mg/L) 6 3 1 3
w2 E # (mg/L) 1.78 3.03 4.00 2.94
D B (mg/L)|  0.242 0.143 0.049 0.145
HTI = i #n (mg/L) 0.01 0.01 [< 0.01 0.01
J1 K 2 v A (mg/L)|< 0.001 |< 0.001 |< 0.001 < 0.001
el e v 7 v (mg/L)]< 0.1 |< 0.1 [< 0.1 < 0.1
53 it (mg/L) < 0.005 |< 0.005 |< 0.005 <_0.005
IR Nl 7ov N (mg/L) < 0.02 [< 0.02 [< 0.02 < 0.02
H fitk F (mg/L) [< 0.005 [< 0.005 |< 0.005 <_0.005
A 7K $R (mg/L) |< 0.0005]< 0.0005 [< 0.0005 < 0.0005
‘S ] (mg/L) < 0.02 [< 0.02 |< 0.02 < 0.02
w8k me/D] 0.09 [< 005 [< 005 0.06
I§ WM~ Y (mg/L) 0.16 0.05 0.06 0.09
7 = A (mg/L) < 0.02 [< 0.02 [< 0.02 < 0.02
At ¥ A4 4~ (mg/L) 9150 6310 2520 5993
z MBAS (mg/L) 0.02 [< 0.02 0.02 0.02
ToE=T RS (mg/L) 0.12 0.29 0.06 0.16
D Mgtz FR (mg/L) 0.10 0.04 0.02 0.05
REme a3 (mg/L) 0.36 2.11 3.42 1.96
i % m M % (meg/L)| 0.076 0.080 0.023 0.060
K s B o wsm] 25800 18600 7260 17220
B kB T INE N
. 7K i (C) 22.8 29.8 21.1
= = e I e A L e
. 5 5 E (cm) 31 17 19 22
c3ps pH 6.9 6.8 6.7 6.8
i DO (mg/L) < 0.5 < 05 [< 0.5 <_05
T | g BOD (mg/L)] 8.3 5.6 12 8.6
o COD (mg/L) 7.7 8.6 7.7 8.0
Al SS (mg/L) 5 6 3 5
=~ & %= F# (mg/L) 2.78 2.82 2.63 2.74
Al 4 B (mg/L)| 0.439 0.448 0.393 0.427
"Wk WA 4 (mg/L) 14400 | 14200 15000 14533
T I 7o==7W%=% mg/L| 1.5 1.65 1.03 .42
o daEEerEz=EFR (mg/L) J< 0.01 [< 0.01 [< 0.01 < 0.01
RE Rl E %2 3 (mg/L) 0.01 0.01 0.01 0.01
i | M M OBE (me/L)| 0278 | 0.324 | 0.190 0.264
E A S8 E oaeal 38100 | 36700 [ 38500 37767




) E H S 4 A | )14 Fa HIE TR A 44
PAN
g i) 11#&dk L | BEEER| ST
30 MEHAHA (H/H) 5/29 7/17 10/23 O
G ARAREZ (R :45)) 7:40 9:10 9:40 s
5 2 S A, T | T | SO,
= 7K % (m) 1.5 1.9 1.0
B kg #JE )= g
LR o s i =
= " (C) 29,1 31.5 153
et IS i (C) 22.8 29.8 18.7
s @, +H ?@%%@ H%ﬁﬁ%%@ [ERRTSED
LR = e R | PR | KA
5 75 B E (m [|> 1.5 1.0 0.7 1.1
% 15 B (cm) 44 50 80 58
18 | A= pH 7.3 7.4 7.3 7.3
. DO (mg/L) 7.7 5.9 4.4 6.0
i BOD (mg/L) - - - —
Br COD (mg/L) 5.9 5.6 4.4 5.3
H |5 SS (mg/L) 6 5 < 1 4
w2 E # (mg/L)|  2.77 2.54 3.54 2.95
D B (mg/L)| 0.355 0.215 0.163 0.244
U2 % & (mg/L) . . . -
B R I U A (mg/L) - - - -
wl e v 7 v (mg/L) — - — -
JE i) (mg/L) - — - -
Wl AN i 7 o & (mg/L) - - - -
H fitt # (mg/L) — — ~ -
i 7K R (mg/L) — - — -
T &l (mg/L) - - - —
ol B M M B (neg/L) - - - -
B I amvi~y 7> (mg/L) _ - - -
H T 5 & (ng/L) B B B .
At ¥ A4 4~ (mg/L) 10900 9230 5480 8537
z MBAS (mg/L) - - - -
ToE=T RS (mg/L) 0.35 0.29 0.37 0.34
D Mgtz FR (mg/L) 0.10 0.06 0.04 0.07
REme a3 (mg/L) 0.55 1.26 2.30 1.37
i ™% m " % (mg/L)| 0231 0.107 0.084 0.141
B s B R (o sl 30200 | 25900 15300 23800
B kB T INE N
. 7K i (C) 23.2 31.0 20.0
5 = Fidbok 5 5 | Bk kR Bk E 5
5 5 B (cm) 51 28 65 48
e[ bl 7.2 7.1 7.2 7.2
i DO (mg/L)| 58 |< 05 2.4 2.9
I | g BOD (mg/L) - - - -
5 COD (mg/L) 5.7 6.7 4.4 5.6
Al SS (mg/L) 7 6 2 5
=~ & %= F# (mg/L) 2.74 2.17 2.93 2.61
Al 4 B (mg/L)] 0.387 0.352 0.263 0.334
WAk W A4 A4~ (mg/L) 12300 [ 13800 10500 12200
T I 7o==7W%%# mg/)| 063 0.79 0.57 0.66
o Mg ERrEE SR (me/L) 0.09 0.07 0.05 0.07
RE Rl E %2 3 (mg/L) 0.46 0.31 1.51 0.76
i | M M OBE (me/L)| 0.267 | 0.210 | 0.189 0.222
E A S8 E ol 33100 | 36800 [ 26600 32167




) E H S 4 A | )14 Fa HIE TR A 44
PAN
o I o SO i C CHIES
30 MEHAHA (H/H) 5/29 7/17 10/23 O
G ARAREZ (R :45)) 9:00 10:00 9:10 s
- B OH E Bl | tetEhs | B
= 7K % (m) 2.7 3.4 1.5
B kg #JE )= *JE
LR 5 = i 58]
= " (C) 2.2 31.5 13.9
et IS i (C) 23.5 31.2 17.3
s @, +H FEB H%ﬁﬁ%%@ [ERRTSED
o = ik | P L | B R K R
5 75 B - (m) 2.5 1.2 0.9 1.5
% 15 B (cm) 66 28 |> 100 65
18 | A= pH 7.4 7.8 7.3 7.5
. DO (mg/L) 7.0 10.0 4.5 7.2
i BOD (mg/L) - - - —
Br COD (mg/L) 5.3 6.3 4.4 5.3
H |55 SS (mg/L) 5 5 1 4
w2 E #% (mg/L)| 281 1.88 3.19 2.63
D B (mg/L)| 0.381 0.261 0.252 0.298
U2 % & (mg/L) . - . -
B R I U A (mg/L) - - - -
wl e v 7 v (mg/L) — - — -
JE i) (mg/L) - — - -
Wl AN i 7 o & (mg/L) - - - -
H fitk # (mg/L) — — ~ -
i 7K R (mg/L) — - — -
T &l (mg/L) - - - —
ol B M M B (neg/L) - - - -
B I amvi~y 7> (mg/L) _ - - -
H T 5 & (ng/L) B B n .
At ¥ A4 4~ (mg/L) 11000 | 13100 8910 11003
z MBAS (mg/L) - - - -
ToE=T RS (mg/L) 0.37 0.21 0.88 0.49
D Mgtz FR (mg/L) 0.10 0.11 0.08 0.10
REme a3 (mg/L) 0.62 0.65 1.33 0.87
i % m M % (mg/L| 0272 0.140 0.204 0.205
H A s 5O oy 31500 | 35300 | 23700 30167
B kB T INE N
. 7K i (C) 23.2 29.9 20.4
5 = fidbok 35 5 | bk S R B F K R
% 5 B (cm) 60 35 65 53
e[ bl 7.5 7.0 7.2 7.2
o DO (mg/L) 1.7 [< 0.5 2.8 1.7
I | g BOD (mg/L) - - - -
o COD (mg/L) 4.7 7.2 4.8 5.6
Al SS (mg/L) 5 2 < 1 3
=~ & %= F# (mg/L) 2.24 2.31 2.40 2.32
Al 4 B (mg/L)] 0.331 0.380 0.281 0.331
WAk W A4 A4~ (mg/L) 14600 [ 15400 12500 14167
T I 7o==70W%=% mg/L| 0.76 .47 0.91 1.05
o Mg ERrEE SR (me/L) 0.05 [< 0.01 0.05 0.04
RE Rl E %2 3 (mg/L) 0.12 [< 0.01 0.60 0.24
i | M M OBE (me/L)| 0.209 | 0.286 | 0.218 0.238
E A S8 E el 38900 | 40100 [ 32400 37133




) E H S 4 A | )14 Fa HIE TR A 44
PAN
g I SO | mpiEE| C X
30 MEHAHA (H/H) 5/29 7/17 10/23 O
G ARAREZ (R :45)) 9:40 10:50 8:25 s
. B OH E B | B | Bk
= 7K % (m) 4.3 5.3 4.9
B kg #JE )= *JE
LR [ = i 58]
= " (C) 26.0 34.7 143
et IS i (C) 24.0 32.1 18.8
s @, +H ﬁ%{ﬁ%%%é H%ﬁﬁ%%@ I Hk 18 £
LR = P e L | P e R | B R K R
5 75 B - (m) 1.3 0.8 1.7 1.3
% 15 B (cm) 55 20 67 47
18 | A= pH 7.8 8.4 7.2 7.8
. DO (mg/L) 11.1 15.0 6.0 10.7
i BOD (mg/L) - - - —
Br COD (mg/L) 6.0 7.6 4.3 6.0
H |55 SS (mg/L) 4 12 2 6
w2 E % (mg/L)|  3.03 1.97 3.04 2.68
D B (mg/L)| 0.386 0.269 0.315 0.323
U2 % & (mg/L) . - . -
B R I U A (mg/L) - - - -
wl e v 7 v (mg/L) — - — -
JE i) (mg/L) - — - -
Wl AN i 7 o & (mg/L) - - - -
H fitt # (mg/L) — — ~ -
i 7K R (mg/L) — - — -
T &l (mg/L) - - - —
ol B M M B (neg/L) - - - -
B I amvi~y 7> (mg/L) _ - - -
H T 5 & (ng/L) B B n .
At ¥ A4 4~ (mg/L) 11600 | 13200 12100 12300
z MBAS (mg/L) - - - -
ToE=T RS (mg/L) 0.05 0.06 0.68 0.26
D Mgtz FR (mg/L) 0.10 0.09 0.07 0.09
REme a3 (mg/L) 0.88 0.40 1.54 0.94
i % m M % (meg/L| 0276 0.078 0.280 0.211
R m B R (o sl 32900 | 35700 [ 31900 33500
O oK OB T INE T
. 7K i (C) 22.5 30.3 19.8
= = b s s | e B | A T K R
5 5 B (cm) 54 47 75 59
e[ bl 7.6 7.6 7.3 7.5
i DO (mg/L) |<_ 0.5 2.6 2.0 1.7
I | g BOD (mg/L) - - - -
o COD (mg/L) 4.1 3.8 2.9 3.6
Al SS (mg/L) 4 5 1 3
=~ & %= F# (mg/L) 2.12 1.47 1.50 1.70
Al 4 B (mg/L)] 0.393 0.211 0.144 0.249
WAk W A4 A4~ (mg/L) 15900 [ 16800 17100 16600
T I 7o==7W%# mg/)| 133 0.50 0.34 0.72
o drgietEz=EFR - (mg/L) < 0.01 0.07 0.03 0.04
RE Rl E %2 3 (mg/L) < 0.01 0.29 0.51 0.27
i | M M OBE (me/L)| 0326 | 0.156 | 0.115 0.199
E A S8 E ol 41800 | 42800 [ 42800 42467




W E 54 AKigs | )4 FA HIE TR 44
JAN
g s 25 A R RiRER| C =SS
30 HEAB (A/H) 5/29 7/17 10/23 O
T A (RF:57) 10:25 | 11:30 | 7:30 7 ¥
- Ti 0 E B Bl Bl
4 7K % (m) 4.0 4.8 4.8
AL S SRS 7<) 7<) FJE
.| K 52 i i =
e - (C) 98.7 33.2 15.4
wlok i (C) 24.2 30.6 17.7
i 0, A Tt o | KERktE | Rkt 4
e ] X et v 5 | st v B | g e B
g % B £ (m) 1.4 0.7 1.7 1.3
75 i E  (cm) 46 22 78 49
15 | pH 7.9 8.3 7.3 7.8
. DO (mg/L)|  10.9 13.0 7.9 10.6
i BOD (mg/L) - - - -
Br COD (mg/L) 5.4 7.6 4.3 5.8
H |5 SS (mg/L) 5 11 1 6
o e £ % (mg/L)|  2.97 2.26 3.31 2.85
1 & B (mg/L)| 0.351 0.269 0.327 0.316
HI =% i #n (mg/L) 0.01 0.01 0.01 0.01
J1 K 2 v A (mg/L) < 0.001 [< 0.001 [< 0.001 < 0.001
el & v 7 v (mg/L)f< 0.1 |< 0.1 [< 0.1 < 0.1
FE i) (mg/L) < 0.005 |< 0.005 |[< 0.005 <_0.005
WA i 7 v & (mg/L)|< 0.02 [< 0.02 [< 0.02 < 0.02
H fitk F  (mg/L) [< 0.005 |[< 0.005 [< 0.005 <_0.005
a 7K g8 (mg/L) [< 0.0005]< 0.0005 |< 0.0005 < 0.0005
r & (mg/L) |<_ 0.02 |< 0.02 [< 0.02 < 0.02
wlw M M 8 (meg/L) < 0.05 [< 005 [< 0.05 < 0.05
H e~y 7> (mg/L) 0.02 [< 0.02 < 0.02 0.02
H 7 = 2 (mg/L) [< 0.02 [< 0.02 [< 0.02 < 0.02
Ak ¥ A4 4~ (mg/L) 12100 [ 12900 12400 12467
Fa MBAS (mg/L) |<_ 0.02 0.03 0.02 0.02
7= HEHRE (mg/L) 0.10 0.19 0.38 0.22
) g EErEZE SR (mg/L) 0.11 0.15 0.06 0.11
(EI e (mg/L) 0.88 0.70 2.21 1.26
e "B # % %% (me/L)| 0250 | 0.099 | 0.290 0.213
R s B R o ayel 34400 | 35200 | 32300 33967
B oK OB = T)E INE
. 7K i (C) 23.3 28.7 19.5
= X i e B | ko v B | g e .
. 75 R B (cm) 47 64 94 68
B A pH 7.9 7.7 7.3 76
% DO (mg/L)| 4.7 2.8 2.8 3.4
TH g BOD (mg/L) - - - -
- COD (mg/L) 3.6 3.7 2.6 3.3
a s SS (mg/L) 3 18 2 8
i = = # (mg/L) 1.87 1.33 1.32 1.51
Hl & B (mg/L)] 0.206 0.185 0.129 0.173
w44~ (mg/L) 15800 [ 16600 17300 16567
T [ 7oe=7WHZE# mg/L)| 050 0.39 0.31 0.40
. i EErEZE R (mg/L) 0.07 0.06 0.02 0.05
[EI e (mg/L) 0.21 0.35 0.51 0.36
i LME MR M BE (me/L)] 0.152 | 0.134 | 0.109 0.132
B A s 8 R ogen] 41300 | 42300 | 43700 42433




